- (i) Find the time t_1 for the speed to decrease to 3 m/s.
- (ii) Find the time t_2 for the particle to come to rest.
- (iii) Deduce that $\frac{t_2 t_1}{t_1} = \sqrt{e}$.

(i)
$$\frac{dv}{dt} = -4e^{\frac{1}{6}V}$$

$$\int_{6}^{3} e^{-\frac{1}{6}V} dv = -4\int_{0}^{t_{1}} dt$$

$$-6\left[e^{-\frac{1}{6}V}\right]_{6}^{3} = -4t_{1}$$

$$t_{1} = \frac{6}{4}\left(\frac{1}{\sqrt{e}} - \frac{1}{e}\right)$$

(ii)
$$-6\left[e^{-\frac{1}{6}V}\right]_{6}^{0} = -4t_{2}$$

$$t_{2} = \frac{6}{4}\left(1 - \frac{1}{e}\right)$$

(iii)
$$\frac{t_2 - t_1}{t_1} = \frac{\frac{6}{4} \left\{ \left(1 - \frac{1}{e} \right) - \left(\frac{1}{\sqrt{e}} - \frac{1}{e} \right) \right\}}{\frac{6}{4} \left(\frac{1}{\sqrt{e}} - \frac{1}{e} \right)}$$

$$= \frac{1 - \frac{1}{\sqrt{e}}}{\frac{1}{\sqrt{e}} - \frac{1}{e}}$$

$$= \frac{e - \sqrt{e}}{\sqrt{e} - 1} = \frac{\sqrt{e}(\sqrt{e} - 1)}{\sqrt{e} - 1}$$

$$= \sqrt{e}$$

5

5

5

5

5.

5